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THEXy « T - FER - 5 Mo % FREAL K B G EHAm #H TE (B ESM)
W1 AR (W 5L
= 1 25,373, 611
)M R R aR fi
= 1 25,373, 611
) R R
= 1 25,373, 611
NHL1JE 2 7~AR I ARIRERE, AT ILRE
aite
ifi 2 12, 430, 375 24, 860, 750
4y iEAR M IR B RE 72 L
HH 1 512, 861 512, 861
FeaR AR
= 1 25,373, 611
TWIERR
= 1 3, 120, 020
)1 R R L
= 1 2,988, 553
A1) 1 R R A T R i
= 1 211,518
NHL1 2R ek &
ifi 2 105, 759 211,518
TAERRE T
= 1 2,575, 898
Kk E
B 1 2, 575, 898 2,575, 898
B & - Bk T
= 1 56, 112
P AL HIVE16
m 2 1,201 2,402
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H TE (B ESM)
B NELRR CV8mm2-3C
m 6 1,638 9, 828
B NELRR CV5. 5mm2-3C
m 16 1,521 24, 336
B NELRR 1V8mm2
m 20 631.9 12, 638
PeHiER DFE
i3 1 6, 908 6,908
AT R hil 2 i s T
= 1 12,372
1R E AR EEEE (
)
= 1 12,372 12,372
) R RIS B S T
= 1 60, 558
MR RS CREA)
i} 1 60, 558 60, 558
SCREfE T
= 1 55, 854
SR E
H 1 55, 854 55, 854
Bl - Fp 5 1
= 1 16, 241
ENERRE OREEA) CV14mm2-3C
m 3 599. 6 1,798
ENERRE OREEA) CV14mm2-2C
m 14 599. 6 8, 394
ENERRE OREEA) CVV3. 5mm2-3C
m 8 599. 6 4, 796
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
ENERRE OREER) 1V14mm2
m 2 250. 8 501
ENERRE OREER) 1V8mm2
m 3 250. 8 752
TR S T
= 1 80, 647
ik 1T
= 1 80, 647
ik (B
= 1 80, 647
Gan
= 1 50, 820
RmE T
= 1 50, 820
N T AR
= 1 50, 820
B TR
= 1 3, 120, 020
I
= 1 69, 387
B3 TS
= 1 18, 198
et By
= 1 3,711
BB G EE AT — &
VERLE:
= 1 3,711
BIGREsET (K30
= 1 14, 487
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
HIMGERE (FE L)
= 1 51, 189
Wi
= 1 3, 189, 407
B
= 1 275, 264
e
= 1 3, 520, 490
et ety
= 1 83, 062
PhaR e B
= 1 3,437, 428
T AT
= 1 6, 985, 161
—
= 1 1,571,228
TS
= 1 33, 930, 000
THEBLFH Y %H
= 1 3, 393, 000
TH#&G
= 1 37, 323, 000
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